PART # 82204700
>
Mopar CANOE CARRIER

PARTS NOTE: THIS ACCESSORY CAN ONLY BE INSTALLED ON THE

FOLLOWING MOPAR UTILITY CROSSBAR KITS:

CHEROKEE - 82203477; MINIVAN - 82203592; DURANGO - 82203984
THROUGH 1998 GRAND CHEROKEE - 82203708;

1999 GRAND CHEROKEE - 82204497

FOLLOW INSTRUCTIONS FOR PROPER INSTALLATION AND SAFE OPERATION

CONTENTS

CANOE CARRIER BRACKET ASSEMBLIES

M6 X 1.0MM X 25.0MM BUTTON HEAD SDREWS
DOME WASHERS

M6 X 1.0MM T-NUTS

STRAP ASSEMBLIES C/W BUCKLES

N BB DMD

BUTTON HEAD SCREW

TOOLS REQUIRED /

1 4MM ALLEN WRENCH
1 #2 PHILLIPS SCREWDRIVER

LOCK WASHER

/ / STRAP ASSEMBLY
-

DOME WASHER
BRACKET ASSEMBLY
////(17022)

BRACKET MOUNTING
HARDWARE KIT
HA-0929-000-00

T-NUT
—

Questions ¢ (800) 423-7363 INSTRUCTION SHEET # 17124 + 03/2001
# 1702



X

PART # 82204700
mOPQr CANOE CARRIER

PARTS

NOTE: THIS ACCESSORY CAN ONLY BE INSTALLED ON THE
FOLLOWING MOPAR UTILITY CROSSBAR KITS:

CHEROKEE - 82203477; MINIVAN - 82203592; DURANGO - 82203984
THROUGH 1998 GRAND CHEROKEE - 82203708;
1999 GRAND CHEROKEE - 82204497

FOLLOW INSTRUCTIONS FOR PROPER INSTALLATION AND SAFE OPERATION

STEP 1:

STEP 2:

STEP 3:

STEP 4:

STEP 5:

CAUTION:

CAUTION:

CAUTION:

REMOVE ALL END CAPS ON CROSSBAR SET.

INSTALL HARDWARE AS SHOWN ON ILLUSTRATION VIEW A,

MAKING SURE THAT ANGLED PORTION BRACKET IS FACING OUTWARD.
DO NOT TIGHTEN DOWN AT THIS POINT.

ONCE ALL BRACKETS ARE INSTALLED, PLACE CANOE ON UTILITY
CROSSBARS AND POSITION BRACKETS SO THAT THE GUNWHALES
ARE RESTING ON THE INSIDE CORNERS. SEE ILLUSTRATION VIEW B.

USING 4MM ALLEN WRENCH, HAND TIGHTEN BRACKETS (25 IN/LB.)
AT ALL FOUR POSITIONS.

SECURE CANOE BY INSTALLING STRAP ASSMBLIES AS SHOWN ON
ILLUSTRATION “C”. MAKE SURE STRAP ASSEMBLIES ARE TIGHT
BEFORE DRIVING VEHICLE.

RE-INSTALL END CAPS ON UTILITY CROSSBARS

CANOES, IN ADDITION TO BEING SECURELY ATTACHED

TO THE CARRIERS, MUST ALSO BE TIED TO THE VEHICULE BOTH FRONT
AND REAR TO PROVIDE SAFE TRANSPORTATION. USE NYLON ROPES OR
STRAPS TIED TO THE CANOE AT THE FRONT AND REAR OF THE VEHICLE.
TO PREVENT SHIFTING WHICH COULD OCCUR DURING TRANSPORTATION.

INSURE THAT THE STRAPS ARE SERED TO METAL STRUCTURAL
COMPONENTS ON THE VEHICULE. PAD THE ROPES OR STRAPS WHERE

THEY COME INTO CONTACT WITH VEHICULE PAINT TO PREVENT ABRASION.

FAILURE TO TIE THE CANOE SECURELY TO THE VEHICULE COULD
RESULT IN AN ACCIDENT AND SEVERE INJURY.

MAXIMUM CANOE WEIGHT 100LBS. (45.4 KG.)

VIEW C

USE EXTREME CAUTION WHEN OPENING TAILGATE.

VIEW A

VIEW B

Questions ¢ (800) 423-7363

INSTRUCTION SHEET # 17124 -« 03/2001

#1702



N° DE PIECE 82204700
Mopar

NOTE: CET ACCESSOIRE PEUT ETRE INSTALLE UNIQUEMENT SUR
PARTS LES TROUSSES DE MONTAGE DE TRAVERSE MOPAR SUIVANTES:

CHEROKEE - 82203477; MINIVAN - 82203592; DURANGO - 82203984

JUSQU’A 1998 GRAND CHEROKEE - 82203708;

1999 GRAND CHEROKEE - 82204497

SUIVEZ CES DIRECTIVES POUR UNE INSTALLATION ET UNE UTILISATION EN TOUTE SECURITE

CONTENU

MONTAGES DE SUPPORT DU PORTE-CANOT
VIS A TETE RONDE M6 X 1,0 mm X 25,0 mm
RONDELLES DOMES

RONDELLES DE SECURITE M6

ECROUS EN «T>» M6 X 1,0 mm

MONTAGES DE COURROIES AVEC BOUCLES

N BB DMDMDS

VIS A TETE RONDE
OUTILS REQUIS /
1 CLE ALLEN 4 mm

1 TOURNEVIS PHILLIPS N° 2

- _~ MONTAGE DE
) g COURROIE
RONDELLE DE SECURITE

—~

RONDELLE DOME
MONTAGE DE SUPPORT
e (17022)

TROUSSE DE MONTAGE
DU SUPPORT
HA-0929-000-00

ECROU EN « T »
—

Questions ¢ (800) 423-7363 FEUILLE DE DIRECTIVES N° 17124 « 03/2001
# 1702




N° DE PIECE 82204700

N Mopar PORTE.CANOT

NOTE: CET ACCESSOIRE PEUT ETRE INSTALLE UNIQUEMENT SUR
PARTS LES TROUSSES DE MONTAGE DE TRAVERSE MOPAR SUIVANTES:

CHEROKEE 82203477, MINIVAN 82203592, DURANGO 82203984

HASTA GRAND CHEROKEE 82203708 DE 1998. GRAND CHEROKEE

82204497 DE 1999.

SUIVEZ CES DIRECTIVES POUR UNE INSALLATION ET UNE UTILISATION EN TOUTE SECURITE

ETAPE 1: ENLEVER TOUS LES EMBOUTS DU MONTAGE DE TRAVERSE.
INSTALLEZ LE MATERIEL DE FIXATION COMME DANS LILLUSTRATION A.
VEILLEZ A CE QUE LA PARTIE INCLINABLE DU SUPPORT SOIT DIRIGEE VERS
LEXTERIEUR. NE SERREZ PAS VERS LE BAS A CETTE ETAPE.

ETAPE 2: UNE FOIS TOUS SUPPORTS INSTALLES. PLACEZ LE CANOT SUR LES
TRAVERSES DE TRANSPORT ET LES SUPPORTS DE COURROIE ET POSITIONNEZ
LES SUPPORTS DE FAGCON A CE QUE LE PLAT-BORD REPOSE SUR LES COINS
INTERIEURS. VOIR LILLUSTRATION B.

ETAPE 3: AVEC LA CLE ALLEN DE 4 mm, SERREZ (25 po. Ib.) AUX QUATRE COINS.

ETAPE 4: FIXEZ LE CANOT EN POSANT LES MONTAGES DE COURROIE COMME DANS
LILLUSTRATION C. VEILLEZ A CE QUE LES MONTAGES DE COURROIE
SOIENT BIEN SERRES AVANT DE DEMARRER LE VEHICULE.

ETAPE 5: REMETTEZ EN PLACE LES EMBOUTS DU MONTAGE DE TRAVERSE.

ATTENTION:
LES CANOTS DOIVENT NON SEULEMENT ETRE ATTACHES FERMEMENT AUX
SUPPORTS, MAIS EGALEMENT A LAVANT ET A L'ARRIERE DU VEHICULE POUR
ASSURER LEUR TRANSPORT EN SECURITE. UTILISEZ DES CORDES EN NYLON
OU DES BRIDES POUR FIXER LE CANOT A L'AVANT ET A L'ARRIERE DU VEHICULE

ET L'IMMOBILISER PENDANT LE TRANSPORT. A

ASSUREZ-VOUS QUE LES BRIDES SONT ATTACHEES AUX ELEMENTS METALLIQUES
STRUCTURELS DU VEHICULE. RECOUVRIR LES BRIDES OU CORDES ENTRANT EN
CONTACT AVEC LA PEINTURE DU VEHICULE POUR EMPECHER L'’ABRASION.

LE NON-RESPECT DE CES CONSIGNES POURRAIT CAUSER UN ACCIDENT ET
ENTRAINER DE GRAVES BLESSURES.

ATTENTION: LE CANOT DOIT AVOIR UN POIDS MAXIMAL
DE 45,4 KG (100 LIVRES).

C

ATTENTION: FAITES PREUVE DE PRUDENCE EN OUVRANT LA PORTE ARRIERE.

Questions ¢ (800) 423-7363 FEUILLE DE DIRECTIVES N° 17124 « 03/2001

#1702



N°DE PIEZA 82204700
| N
Mopar PORTACANOA

NOTA: ESTE ACCESORIO SOLO SE PUEDE INSTALAR EN LOS
IEAETLS SIGUIENTES JUEGOS DE BARRAS TRANSVERSALES

UTILITARIAS MOPAR: CHEROKEE - 82203477; MINIVAN - 82203592;
DURANGO - 82203984; THROUGH 1998

GRAND CHEROKEE - 82203708; 1999 GRAND CHEROKEE - 82204497

SIGA LAS INSTRUCCIONES PARA UNA INSTALACION ADECUADA Y UN MANEJO SEGURO
CONTENIDO

4  CONJUNTOS DE SOPORTES DE PORTACANOA

4  TORNILLOS CON INSERCION EN LA CABEZA
M6X 1,0 mm X 25,0 mm
4  ARANDELAS CONVEXAS
4 ARANDELAS DE BLOQUEO M6
4 TUERCASENTM6 X 1,0 mm
2 CONJUNTOS DE CORREAS
CON HEBILAS TORNILLO CON INSERCION
EN LA CABEZA
HERRAMIENTAS REQUERIDAS /

1 LLAVE ALLEN DE 4 MM
1 DESARMADOR PHILLIPS N° 2

- CONJUNTO DE
ARANDELA DE BLOQUEO CORREAS
-
ARANDELA CONVEXA
CONJUNTO DE
" SOPORTES
(17022)

JUEGO DE DISPOSITIVOS
PARA MONTAJE

DEL SOPORTE
HA-0929-000-00

TUERCAENT
—

PREGUNTAS ¢ (800) 423-7363 HOJA DE INSTRUCCIONES N° 17124 - 03/2001
#1702




N°DE PIEZA 82204700
o
Vay mOPQr PORTACANOA

PARTS
SIGUIENTES JUEGOS DE BARRAS TRANSVERSALES

UTILITARIAS MOPAR: CHEROKEE - 82203477; MINIVAN - 82203592;

DURANGO - 82203984; THROUGH 1998

GRAND CHEROKEE - 82203708; 1999 GRAND CHEROKEE - 82204497

SIGA LAS INSTRUCCIONES PARA UNA INSTALACION ADECUADA Y UN MANEJO SEGURO

NOTA: ESTE ACCESORIO SOLO SE PUEDE INSTALAR EN LOS

PASO 1: RETIRE TODOS LOS EXTEMOS DEL JUEGO DE
BARRAS TRANSVERSALES. INSTALE LOS DISPOSITIVOS
COMO SE INDICA EN EL DIBUJO DE LA FIGURA A. ASEGURANDOSE
DE QUE EL SOPORTE- DE LADO ANGULAR QUEDE HACIA AFUERA.
NO APRIETE HACIA ABAJO EN ESTE PUNTO.

PASO 2: UNAVEZ QUE TODOS LOS SOPORTES ESTEN INSTALADOS, COLOQUE
LA CANOA EN LAS BARRAS TRANSVERSALES UTILITARIAS Y UBIQUE
LOS SOPORTES DE MANERA QUE LAS FALCAS DESCANSEN EN LAS
ESQUINAS INTERIORES. VEA EL DIBUJO DE LA FIGURA B.

PASO 3. USE UNA LLAVE ALLEN DE 4 MM. PARA APRETAR MANUALMENTE LOS
SOPORTES (25 LBS. PULGADA) EN LAS CUATRO POSICIONES.

PASO 4: ASEGURE LA CANOA INSTALANDO CONJUNTOS DE CORREAS COMO
SE INDICA EN LA FIGURA C. ASEGURESE DE QUE ESTOS CONJUNTOS
ESTEN APRETADOS ANTES DE MANEJAR EL VEHICULO.

PASO 5: VUELVA A INSTALAR LOS TAPONES EXTREMOS EN LAS BARRAS
TRANSVERSALES UTILITARIAS.

PRECAUCION:
A LA CANOA, ADEMAS DE ESTAR FIJADA EN FORMA SEGURA A LOS PORTADORES.
DEBE ESTAR SUJETA A LA PARTE DELANTERA Y TRASERA DEL VEHICULO PARA
QUE EL TRANSPORTE SEA SEGURO. USE CUERDAS DE NYLON O CORREAS PARA A
ASEGURAR LA CANOAA LA PARTE DELANTERAY TRASERA DEL VEHICULO Y ASI
IMPEDIR EL DESPLAZAMIENTO QUE PODRIA OCURRIR DURANTE EL TRANSPORTE.

ASEGURESE DE QUE LAS CORREAS ESTAN SUJETAS A LOS COMPONENTES ESTRUCTURALES
DE METAL DEL VEHICULO. ACOLCHE LAS CUERDAS O CORREAS EN EL LUGAR DONDE HAGAN
CONTACTO CON LA PINTURA DEL VEHICULO PARA EVITAR LA ABRASION.

SI NO SUJETA LA CANOA EN FORMA SEGURAAL VEHICULO PODRIA
PROVOCAR UN ACCIDENTE Y OCASIONAR HERIDAS GRAVES.

PRECAUCION: EL PESO MAXIMO DE LA CANOA ES 100 LIBRAS (45,4 KG.)

C

PRECAUCION: UTILICE LA MAXIMA PRECAUCION AL ABRIR LA PUERTA TRASERA

PREGUNTAS « (800) 423-7363 HOJA DE INSTRUCCIONES N° 17124 - 03/2001

#1702



